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∞∑
n=1

x

np + nqx2

3(−∞,+∞)þ��Âñ. ¦p, q �����, ¿`²nd.
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�!(10©) ®�a1 = 2, an+1 = 1
2
(an + 1

an
), n = 1, 2, . . . ¦y:

∞∑
n=1

(
an
an+1

− 1

)
Âñ.
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n!(15©) é p ?Ø?ê
∞∑
n=1

sin
√
n

np

�Âñ5, Ù¥ p > 0.
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o!(15©) O� ∫ π
2

0

ln

(
a+ b sin θ

a− b sin θ

)
dθ

sin θ
,

Ù¥0 ≤ b < a.
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∞∑
n=0

anx
n�Xê a0 = 1, a1 = −7, a2 = −1, a3 = −43 ¿÷v'Xª

an+2 + c1an+1 + c2an = 0 (n ≥ 0),

Ù¥ c1, c2 �~ê. ¦an���L�ª§?ê�Âñ�»±9?êÚ.
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8!(15©)�f�[−π, π]þëY¼ê, ÷vf(−π) = f(π). -

u(r, θ) =
1

2π

∫ π

−π
f(x)

1− r2

1 + r2 − 2r cos(θ − x)
dx,

Ù¥0 ≤ r < 1, θ ∈ [−π, π). y²: éu?¿�θ0 ∈ [−π, π),

lim
r→1,θ→θ0

u(r, θ) = f(θ0).
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Ô!(15©)�R3þëY¼êuäkü�ëY �ê, �Øð�~ê. ÷v

∆u+ u5 = 0, Ù¥−∆u =
∂2u

∂x2
+
∂2u

∂y2
+
∂2u

∂z2
.

�λ > 0, -uλ(x, y, z) = λαu(λx, λy, λz), Ù¥ α ��~ê, ¦�

∆uλ + u5λ = 0.

(i). ¦ α.

(ii). e
∫
R3 |∇u(x, y, z)|2dxdydz Âñ, y²éu?¿λ > 0,∫ ∫ ∫

R3

|∇u(x, y, z)|2dxdydz =

∫ ∫ ∫
R3

|∇uλ(x, y, z)|2dxdydz.

(iii). D´äk1w>.∂D�k.«�, �u|∂D = 0, y²∫ ∫ ∫
D

|u(x, y, z)|6dxdydz =

∫ ∫ ∫
D

|∇uλ(x, y, z)|2dxdydz.
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f(x) =

{
1− |x|

2h
0 ≤ |x| ≤ 2h

0 2h ≤ |x| ≤ π,
(1)

Ù¥h > 0. |^f(x)�Fourier?ê�{O�e�?êÚµ

(1)
∞∑
n=1

sin2 nh

n2
(2)

∞∑
n=1

sin4 nh

n4
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